

ON THE FULLY DEGENERATE DAEHEE NUMBERS AND POLYNOMIALS OF THE SECOND KIND

SANG JO YUN¹ AND JIN-WOO PARK^{2,*}

ABSTRACT. In this paper, we investigate the new degenerate Daehee polynomials and numbers which are called the degenerate Daehee polynomials of the second kind, and derive some new and interesting identities and properties of those polynomials.

1. INTRODUCTION

Let p be a fixed prime number. Throughout this paper, \mathbb{Z}_p , \mathbb{Q}_p and \mathbb{C}_p will denote the ring of p -adic integers, the field of p -adic rational numbers and the completion of algebraic closure of \mathbb{Q}_p .

Let $f(x)$ be a uniformly differentiable function on \mathbb{Z}_p . Then the p -adic invariant integral on \mathbb{Z}_p is defined as

$$I_0(f) = \int_{\mathbb{Z}_p} f(x) d\mu_0(x) = \lim_{N \rightarrow \infty} \frac{1}{p^N} \sum_{n=0}^{p^N-1} f(x), \quad (\text{see [8, 16, 17]}) \quad (1.1)$$

From (1.1), we have

$$I_0(f_n) - I_0(f) = \sum_{l=0}^{n-1} f'(l) \quad \text{where } f_n(x) = f(x+n) \text{ and } f'(l) = \left. \frac{df(x)}{dx} \right|_{x=l}. \quad (1.2)$$

In particular,

$$I_0(f_1) - I_0(f) = f'(0). \quad (1.3)$$

The *Stirling numbers of the first kind* are defined by

$$(x)_n = \sum_{l=0}^n S_1(n, l) x^l, \quad (n \geq 0), \quad (1.4)$$

and the *Stirling numbers of the second kind* are given by

$$x^n = \sum_{l=0}^n S_2(n, l) (x)_l, \quad (1.5)$$

where $(x)_0 = 1$ and $(x)_n = x(x-1) \cdots (x-n+1)$, $(n \geq 1)$ (see [3, 28, 23]).

From (1.4) and (1.5), we can derive the following equations

$$(e^t - 1)^n = n! \sum_{l=n}^{\infty} S_2(l, n) \frac{t^l}{l!}, \quad (1.6)$$

1991 *Mathematics Subject Classification.* 05A10, 05A19, 11C08.

Key words and phrases. degenerate Daehee polynomials; fully degenerate Daehee polynomials of the second kind; higher-order Daehee polynomials of the second kind.

* corresponding author.

and

$$(\log(x+1))^n = n! \sum_{l=n}^{\infty} S_1(l, n) \frac{x^l}{l!}, \quad (n \geq 0), \quad (\text{see [3, 11, 28]}). \quad (1.7)$$

In addition,

$$\log(1+t) = \sum_{n=1}^{\infty} (-1)^{n+1} (n-1)! \frac{t^n}{n!}, \quad [3, 11, 28]. \quad (1.8)$$

The *Bernoulli polynomials of order r* are defined by the generating function

$$\left(\frac{t}{e^t - 1} \right)^r e^{xt} = \sum_{n=0}^{\infty} B_n^{(r)}(x) \frac{t^n}{n!}, \quad (\text{see [1, 4, 12, 25, 29]}). \quad (1.9)$$

The *Carlitz's degenerate Bernoulli polynomials of order r* is defined by the generating function to be

$$\sum_{n=0}^{\infty} \beta_n^{(r)}(x|\lambda) \frac{t^n}{n!} = \left(\frac{t}{(1+\lambda t)^{\frac{1}{\lambda}} - 1} \right)^r (1+\lambda t)^{\frac{x}{\lambda}}, \quad (1.10)$$

where $\lambda \in \mathbb{R}$ (see [2, 10, 15, 19, 22]). By (1.10), we know that

$$\begin{aligned} \lim_{\lambda \rightarrow 0} \sum_{n=0}^{\infty} \beta_n^{(r)}(x|\lambda) \frac{t^n}{n!} &= \lim_{\lambda \rightarrow 0} \left(\frac{t}{(1+\lambda t)^{\frac{1}{\lambda}} - 1} \right)^r (1+\lambda t)^{\frac{x}{\lambda}} \\ &= \left(\frac{t}{e^t - 1} \right)^r e^{xt} = \sum_{n=0}^{\infty} B_n^{(r)}(x) \frac{t^n}{n!}, \end{aligned}$$

and thus, we get

$$\lim_{\lambda \rightarrow 0} \beta_n^{(r)}(x|\lambda) = B_n^{(r)}(x).$$

In [21], T. Kim et. al. defined the degenerate Bernoulli numbers and polynomials to be

$$\left(\frac{\log(1+\lambda t)^{\frac{1}{\lambda}}}{(1+\lambda t)^{\frac{1}{\lambda}} - 1} \right)^r (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} b_{n,\lambda}^{(r)}(x) \frac{t^n}{n!}, \quad (1.11)$$

which are different from Carlitz's degenerate numbers and polynomials. By (1.11), we know that

$$\lim_{\lambda \rightarrow 0} b_{n,\lambda}^{(r)}(x) = B_n^{(r)}(x).$$

Note that, by (1.3),

$$\begin{aligned} &\int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{x+x_1+\cdots+x_r}{\lambda}} d\mu_0(x_1) \cdots d\mu_0(x_r) \\ &= \left(\frac{\frac{1}{\lambda} \log(1+\lambda t)}{(1+\lambda t)^{\frac{1}{\lambda}} - 1} \right)^r (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} b_{n,\lambda}^{(r)}(x) \frac{t^n}{n!}, \end{aligned} \quad (1.12)$$

and

$$\begin{aligned} &\int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{x+x_1+\cdots+x_r}{\lambda}} d\mu_0 \cdots d\mu_0(x_r) \\ &= \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \sum_{n=0}^{\infty} \binom{x+x_1+\cdots+x_r}{n} \lambda^n t^n d\mu_0(x_1) \cdots d\mu_0(x_r) \\ &= \sum_{n=0}^{\infty} \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (x+x_1+\cdots+x_r)_{n,\lambda} d\mu_0(x_1) \cdots d\mu_0(x_r) \frac{t^n}{n!}. \end{aligned} \quad (1.13)$$

By (1.12) and (1.13), we know that

$$b_{n,\lambda}^{(r)}(x) = \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (x + x_1 + \cdots + x_r)_{n,\lambda} d\mu_0(x_1) \cdots d\mu_0(x_r). \quad (1.14)$$

The *higher-order Daehee polynomials* are defined by the generating function to be

$$\left(\frac{\log(1+t)}{t}\right)^r (1+t)^x = \sum_{n=0}^{\infty} D_n^{(r)}(x) \frac{t^n}{n!}, \quad (\text{see [7, 12, 13, 30]}). \quad (1.15)$$

In particular, if $r = 1$, then $D_n^{(1)}(x) = D_n(x)$ are called the *Daehee polynomials*.

By replacing t as $\log(1+t)$ in (1.15), we have

$$\begin{aligned} \sum_{n=0}^{\infty} D_n^{(r)}(x) \frac{t^n}{n!} &= \sum_{n=0}^{\infty} B_n^{(r)}(x) \frac{1}{n!} (\log(1+t))^n \\ &= \left(\sum_{n=0}^{\infty} B_n^{(r)}(x) \frac{1}{n!} \right) \left(n! \sum_{l=0}^{\infty} S_1(l, n) \frac{t^l}{l!} \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n B_m^{(r)}(x) S_1(n, m) \right) \frac{t^n}{n!}, \end{aligned}$$

and so, we get

$$D_n^{(r)}(x) = \sum_{m=0}^n B_m^{(r)}(x) S_1(n, m).$$

Note that by (1.3), we have

$$\begin{aligned} \sum_{n=0}^{\infty} D_n^{(r)}(x) \frac{t^n}{n!} &= \left(\frac{\log(1+t)}{t}\right)^r (1+t)^x \\ &= \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (1+t)^{x+x_1+\cdots+x_r} d\mu_0(x_1) \cdots d\mu_0(x_r) \\ &= \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \binom{x+x_1+\cdots+x_r}{n} t^n d\mu_0(x_1) \cdots d\mu_0(x_r) \\ &= \sum_{n=0}^{\infty} \left(\int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (x+x_1+\cdots+x_r)_n d\mu_0(x_1) \cdots d\mu_0(x_r) \right) \frac{t^n}{n!}, \end{aligned}$$

and thus, we know that

$$D_n^{(r)}(x) = \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (x+x_1+\cdots+x_r)_n d\mu_0(x_1) \cdots d\mu_0(x_r). \quad (1.16)$$

L. Carlitz introduced the degenerate Bernoulli polynomials in [2], and the degenerate of some special functions have studied by many researchers (see [2, 5, 6, 9, 10, 11, 14, 15, 19, 20, 22, 24, 26, 27]).

In particular, authors defined the *degenerate Stirling numbers of the second kind* which are defined by the generating function

$$\frac{1}{m!} \left((1+\lambda t)^{\frac{1}{\lambda}} - 1 \right)^m = \sum_{n=m}^{\infty} S_{2,\lambda}(n, m) \frac{t^n}{n!}, \quad (1.17)$$

where m is a given nonnegative integer in [11, 14, 18, 20, 23].

Daehee numbers and polynomials are introduced by Kim et. al. in [7], and those polynomials have been generalized and obtained interesting properties by many researchers (see [4, 7, 8, 9, 12, 13, 23, 25, 26]).

In this paper, we consider the new degenerate Daehee polynomials and numbers which are called the degenerate Daehee polynomials of the second kind, and derive some new and interesting identities and properties of those polynomials.

2. FULLY DEGENERATE DAEHEE POLYNOMIALS OF THE SECOND KIND

Let us assume that $\lambda \in \mathbb{R}$. By (1.3), we have

$$\int_{\mathbb{Z}_p} (1 + \lambda \log(1+t))^{\frac{x+y}{\lambda}} d\mu_0(y) = \frac{\frac{1}{\lambda} \log(1 + \lambda \log(1+t))}{(1 + \lambda \log(1+t))^{\frac{1}{\lambda}} - 1} (1 + \lambda \log(1+t))^{\frac{x}{\lambda}}. \quad (2.1)$$

By (2.1), we define the *degenerate Daehee polynomials of the second kind* by the generating function to be

$$\frac{\frac{1}{\lambda} \log(1 + \lambda \log(1+t))}{(1 + \lambda \log(1+t))^{\frac{1}{\lambda}} - 1} (1 + \lambda \log(1+t))^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} D_n(x|\lambda) \frac{t^n}{n!}. \quad (2.2)$$

In the special case, $x = 0$, $D_n(\lambda) = D_n(0|\lambda)$ are called the *degenerate Daehee numbers of the second kind*.

Note that

$$\begin{aligned} \lim_{\lambda \rightarrow 0} \sum_{n=0}^{\infty} D_n(x|\lambda) \frac{t^n}{n!} &= \lim_{\lambda \rightarrow 0} \frac{\frac{1}{\lambda} \log(1 + \lambda \log(1+t))}{(1 + \lambda \log(1+t))^{\frac{1}{\lambda}} - 1} (1 + \lambda \log(1+t))^{\frac{x}{\lambda}} \\ &= \frac{\log(1+t)}{t} (1+t)^x = \sum_{n=0}^{\infty} D_n(x) \frac{t^n}{n!}, \end{aligned}$$

and thus, we know that

$$\lim_{\lambda \rightarrow 0} D_n(x|\lambda) = D_n(x), \quad (n \geq 0).$$

From (1.7) and (2.1), we have

$$\begin{aligned} &\int_{\mathbb{Z}_p} (1 + \lambda \log(1+t))^{\frac{x+y}{\lambda}} d\mu_0(y) \\ &= \sum_{l=0}^{\infty} \int_{\mathbb{Z}_p} \binom{\frac{x+y}{\lambda}}{l} \lambda^l (\log(1+t))^l d\mu_0(y) \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n S_1(n, l) \lambda^l l! \int_{\mathbb{Z}_p} \binom{\frac{x+y}{\lambda}}{l} d\mu_0(y) \right) \frac{t^n}{n!}. \end{aligned} \quad (2.3)$$

By (2.2) and (2.3), we have

$$D_{n,\lambda} = \sum_{k=0}^n S_1(n, l) \lambda^l l! \int_{\mathbb{Z}_p} \binom{\frac{x+y}{\lambda}}{l} d\mu_0(y), \quad (n \geq 0). \quad (2.4)$$

Since

$$\begin{aligned} \binom{\frac{x+y}{\lambda}}{l} &= \frac{\left(\frac{x+y}{\lambda}\right) \left(\frac{x+y}{\lambda} - 1\right) \left(\frac{x+y}{\lambda} - 2\right) \cdots \left(\frac{x+y}{\lambda} - l + 1\right)}{l!} \\ &= \frac{(x+y)(x+y-\lambda)(x+y-2\lambda) \cdots (x+y-(l-1)\lambda)}{\lambda^l l!}, \end{aligned} \quad (2.5)$$

by (2.4) and (2.5), we have

$$D_n(\lambda) = \sum_{k=0}^n S_1(n, l) \int_{\mathbb{Z}_p} (x+y)_{l,\lambda} d\mu_0(y), \quad (n \geq 0), \quad (2.6)$$

where $(x)_{n,\lambda} = x(x-\lambda)(x-2\lambda)\cdots(x-(n-1)\lambda)$.

Thus, by (2.4) and (2.5), we have the following theorem.

Theorem 2.1. *For each $n \geq 0$, we have*

$$\begin{aligned} D_n(\lambda) &= \sum_{k=0}^n S_1(n, l) \lambda^l l! \int_{\mathbb{Z}_p} \left(\frac{x+y}{l} \right) d\mu_0(y) \\ &= \sum_{k=0}^n S_1(n, l) \int_{\mathbb{Z}_p} (x+y)_{l,\lambda} d\mu_0(y). \end{aligned}$$

By replacing t as $e^t - 1$ in (2.2), we obtain the following.

$$\begin{aligned} \sum_{n=0}^{\infty} D_n(x|\lambda) \frac{(e^t - 1)^n}{n!} &= \sum_{n=0}^{\infty} D_n(x|\lambda) \sum_{m=n}^{\infty} S_2(m, n) \frac{t^m}{m!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n D_m(x|\lambda) S_2(n, m) \right) \frac{t^n}{n!}. \end{aligned} \quad (2.7)$$

On the other hand,

$$\begin{aligned} \sum_{n=0}^{\infty} D_n(x|\lambda) \frac{(e^t - 1)^n}{n!} &= \frac{\frac{1}{\lambda} \log(1 + \lambda t)}{(1 + \lambda t)^{\frac{1}{\lambda}} - 1} (1 + \lambda t)^{\frac{x}{\lambda}} \\ &= \sum_{n=0}^{\infty} B_n(x|\lambda) \frac{t^n}{n!}, \end{aligned} \quad (2.8)$$

where $B_n(x|\lambda)$ is the *degenerate Bernoulli polynomials of the second kind of order $r \in \mathbb{Z}$* which are defined by the generating function to be

$$\left(\frac{\frac{1}{\lambda} \log(1 + \lambda t)}{(1 + \lambda t)^{\frac{1}{\lambda}} - 1} \right)^r (1 + \lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} B_n^{(r)}(x|\lambda) \frac{t^n}{n!} \quad (\text{see [10, 15, 22]}). \quad (2.9)$$

In the special case $r = 1$, $B_n^{(1)}(x|\lambda) = B_n(x|\lambda)$ is called the *degenerate Bernoulli polynomials of the second kind*.

For positive integer d with $d \equiv 1 \pmod{2}$, if we put $f(x) = (1 + \lambda \log(1 + t))^{\frac{x}{\lambda}}$, then, by (1.2) we get

$$\begin{aligned} &\int_{\mathbb{Z}_p} (1 + \lambda \log(1 + t))^{\frac{x+d}{\lambda}} d\mu_0(y) - \int_{\mathbb{Z}_p} (1 + \lambda \log(1 + t))^{\frac{x}{\lambda}} d\mu_0(y) \\ &= \sum_{l=0}^{d-1} \frac{1}{\lambda} (1 + \lambda \log(1 + t))^{\frac{x}{\lambda}} \log(1 + \lambda \log(1 + t)). \end{aligned} \quad (2.10)$$

By (2.10), we have

$$\begin{aligned} & \int_{\mathbb{Z}_p} (1 + \lambda \log(1+t))^{\frac{x}{\lambda}} d\mu_0(x) \\ &= \frac{\frac{1}{\lambda} \log(1 + \lambda \log(1+t))}{(1 + \lambda \log(1+t))^{\frac{d}{\lambda}} - 1} \sum_{l=0}^{d-1} (1 + \lambda \log(1+t))^{\frac{l}{\lambda}} \\ &= d \sum_{l=0}^{d-1} \frac{\frac{1}{\lambda} \log(1 + \frac{\lambda}{d} d \log(1+t))}{(1 + \frac{\lambda}{d} d \log(1+t))^{\frac{d}{\lambda}} - 1} \left(1 + \frac{\lambda}{d} d \log(1+t)\right)^{\frac{d-l}{\lambda} \frac{l}{d}}. \end{aligned} \quad (2.11)$$

Note that, by (1.6),

$$\begin{aligned} & \frac{\frac{1}{\lambda} \log(1 + \frac{\lambda}{d} d \log(1+t))}{(1 + \frac{\lambda}{d} d \log(1+t))^{\frac{d}{\lambda}} - 1} \left(1 + \frac{\lambda}{d} d \log(1+t)\right)^{\frac{d-l}{\lambda} \frac{l}{d}} \\ &= \sum_{n=0}^{\infty} B_n \left(\frac{l}{d} \middle| \frac{\lambda}{d}\right) \frac{(d \log(1+t))^n}{n!} \\ &= \sum_{n=0}^{\infty} B_n \left(\frac{l}{d} \middle| \frac{\lambda}{d}\right) \frac{d^n}{n!} n! \sum_{m=n}^{\infty} S_1(m, n) \frac{x^m}{m!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n B_m \left(\frac{l}{d} \middle| \frac{\lambda}{d}\right) d^m S_1(n, m) \right) \frac{t^n}{n!}. \end{aligned} \quad (2.12)$$

By (2.1), (2.11) and (2.12), we have

$$\begin{aligned} \sum_{n=0}^{\infty} D_n(\lambda) \frac{t^n}{n!} &= \int_{\mathbb{Z}_p} (1 + \lambda \log(1+t))^{\frac{x}{\lambda}} d\mu_0(x) \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \sum_{l=0}^{d-1} B_m \left(\frac{l}{d} \middle| \frac{\lambda}{d}\right) d^{m+1} S_1(n, m) \right) \frac{t^n}{n!}. \end{aligned} \quad (2.13)$$

Hence, by (2.7), (2.8) and (2.13), we obtain the following theorem.

Theorem 2.2. For non-negative integer n and $d \in \mathbb{N}$ with $d \equiv 1 \pmod{2}$, we have

$$B_n(x|\lambda)(x) = \sum_{m=0}^n D_{m,\lambda}(x) S_2(n, m),$$

and

$$D_{n,\lambda} = \sum_{m=0}^n \sum_{l=0}^{d-1} B_m \left(\frac{l}{d} \middle| \frac{\lambda}{d}\right) d^{m+1} S_1(n, m).$$

By (2.2), we note that

$$\begin{aligned}
 \sum_{n=0}^{\infty} D_n(x|\lambda) \frac{t^n}{n!} &= \left(\frac{\frac{1}{\lambda} \log(1 + \lambda \log(1 + t))}{(1 + \lambda \log(1 + t))^{\frac{1}{\lambda}} - 1} \right) (1 + \lambda \log(1 + t))^{\frac{x}{\lambda}} \\
 &= \left(\sum_{n=0}^{\infty} D_n(\lambda) \frac{t^n}{n!} \right) \left(\sum_{n=0}^{\infty} \binom{\frac{x}{\lambda}}{n} \lambda^n (\log(1 + t))^n \right) \\
 &= \left(\sum_{n=0}^{\infty} D_n(\lambda) \frac{t^n}{n!} \right) \left(\sum_{n=0}^{\infty} \binom{\frac{x}{\lambda}}{n} \lambda^n n! \sum_{l=n}^{\infty} S_1(l, n) \frac{x^l}{l!} \right) \tag{2.14} \\
 &= \left(\sum_{n=0}^{\infty} D_n(\lambda) \frac{t^n}{n!} \right) \left(\sum_{n=0}^{\infty} \sum_{l=0}^n (x)_{l,\lambda} S_1(n, l) \frac{x^n}{n!} \right) \\
 &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \sum_{l=0}^k \binom{n}{k} (x)_{l,\lambda} S_1(k, l) D_{n-k}(\lambda) \right) \frac{t^n}{n!}.
 \end{aligned}$$

By comparing the coefficients on both sides of (2.14), we obtain the following theorem.

Theorem 2.3. *For non-negative integer n, we have*

$$D_n(x|\lambda) = \sum_{k=0}^n \sum_{l=0}^k \binom{n}{k} (x)_{l,\lambda} S_1(k, l) D_{n-k}(\lambda).$$

Note that, if we put $f(x) = (1 + \lambda \log(1 + t))^{\frac{x}{\lambda}}$, then

$$\begin{aligned}
 f'(0) &= \frac{1}{\lambda} \log(1 + \lambda \log(1 + t)) \\
 &= \frac{1}{\lambda} \sum_{n=1}^{\infty} (-1)^{n+1} \frac{\lambda^n}{n} (\log(1 + t))^n \\
 &= \sum_{n=1}^{\infty} (-1)^{n+1} \frac{\lambda^{n-1}}{n} n! \sum_{l=n}^{\infty} S_1(l, n) \frac{t^l}{l!} \tag{2.15} \\
 &= \sum_{n=0}^{\infty} \left(\sum_{m=1}^n (-1)^{m+1} \lambda^{m-1} (m-1)! S_1(n, m) \right) \frac{t^n}{n!},
 \end{aligned}$$

and thus, by (1.3), we have

$$\begin{aligned}
 &\int_{\mathbb{Z}_p} f(x_1) d\mu_0(x) - \int_{\mathbb{Z}_p} f(x) d\mu_0(x) \\
 &= \frac{\frac{1}{\lambda} \log(1 + \lambda \log(1 + t))}{(1 + \lambda \log(1 + t))^{\frac{1}{\lambda}} - 1} (1 + \lambda \log(1 + t))^{\frac{1}{\lambda}} - \frac{\frac{1}{\lambda} \log(1 + \lambda \log(1 + t))}{(1 + \lambda \log(1 + t))^{\frac{1}{\lambda}} - 1} \tag{2.16} \\
 &= \sum_{n=0}^{\infty} (D_n(1|\lambda) - D_n(\lambda)) \frac{t^n}{n!}.
 \end{aligned}$$

Moreover,

$$\begin{aligned} & \left(\frac{1}{\lambda} \log(1 + \lambda \log(1 + t)) \right) \sum_{l=0}^{n-1} (1 + \lambda \log(1 + t))^{\frac{l}{\lambda}} \\ &= \frac{\frac{1}{\lambda} \log(1 + \lambda \log(1 + t))}{(1 + \lambda \log(1 + t))^{\frac{1}{\lambda}}} (1 + \lambda \log(1 + t))^n - \frac{\frac{1}{\lambda} \log(1 + \lambda \log(1 + t))}{(1 + \lambda \log(1 + t))^{\frac{1}{\lambda}}} \quad (2.17) \\ &= \sum_{r=0}^{\infty} \{D_r(n|\lambda) - D_r(\lambda)\} \frac{t^r}{r!}, \end{aligned}$$

and, by (2.15), we get

$$\begin{aligned} & \frac{1}{\lambda} \log(1 + \lambda \log(1 + t)) \sum_{l=0}^{n-1} (1 + \lambda \log(1 + t))^{\frac{l}{\lambda}} \\ &= \left(\sum_{p=0}^{\infty} \sum_{m=1}^p (-\lambda)^{m-1} (m-1)! S-1(p, m) \frac{t^p}{p!} \right) \left(\sum_{l=0}^{n-1} \sum_{s=0}^{\infty} \sum_{q=0}^s (l)_{q,\lambda} S_1(s, q) \frac{t^s}{s!} \right) \\ &= \sum_{r=0}^{\infty} \left(\sum_{l=0}^{n-1} \sum_{p=0}^r \sum_{m=1}^p \sum_{q=0}^{r-p} \binom{r}{p} (l)_{q,\lambda} (-\lambda)^{m-1} (m-1)! S_1(p, m) S_1(r-p, q) \right) \frac{t^r}{r!} \quad (2.18) \end{aligned}$$

From (2.15), (2.16) and (2.18), we obtain the following corollary.

Theorem 2.4. *For each nonnegative integer r , we have*

$$D_r(1|\lambda) - D_r(\lambda) = \sum_{m=1}^r (-\lambda)^{m-1} (m-1)! S_1(r, m).$$

Moreover, for each positive integer $n \geq 2$,

$$D_r(n|\lambda) - D_r(\lambda) = \sum_{l=0}^{n-1} \sum_{p=0}^r \sum_{m=1}^p \sum_{q=0}^{r-p} \binom{r}{p} (l)_{q,\lambda} (-\lambda)^{m-1} (m-1)! S_1(p, m) S_1(r-p, q).$$

3. HIGHER-ORDER DEGENERATE DAEHEE POLYNOMIALS OF THE SECOND KIND

In this section, we consider the *higher-order degenerate Daehee polynomials of the second kind* given by the generating function as follows: For given positive real number r ,

$$\left(\frac{\frac{1}{\lambda} \log(1 + \lambda \log(1 + t))}{(1 + \lambda \log(1 + t))^{\frac{1}{\lambda}} - 1} \right)^r (1 + \lambda \log(1 + t))^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} D_n^{(r)}(x|\lambda) \frac{t^n}{n!}. \quad (3.1)$$

In the special case $x = 0$, $D_n^{(r)}(0|\lambda) = D_n^{(r)}(\lambda)$ are called the *higher-order degenerate Daehee numbers of the second kind*.

Note that

$$\begin{aligned} \lim_{\lambda \rightarrow 0} \sum_{n=0}^{\infty} D_n^{(r)}(x|\lambda) \frac{t^n}{n!} &= \lim_{\lambda \rightarrow 0} \left(\frac{\frac{1}{\lambda} \log(1 + \lambda \log(1 + t))}{(1 + \lambda \log(1 + t))^{\frac{1}{\lambda}} - 1} \right)^r (1 + \lambda \log(1 + t))^{\frac{x}{\lambda}} \\ &= \left(\frac{\log(1 + t)}{t} \right)^r (1 + t)^x = \sum_{n=0}^{\infty} D_n^{(r)}(x) \frac{t^n}{n!}. \end{aligned}$$

From (2.9), we note that

$$\begin{aligned} & \left(\frac{\frac{1}{\lambda} \log(1 + \lambda \log(1 + t))}{(1 + \lambda \log(1 + t))^{\frac{1}{\lambda}} - 1} \right)^r (1 + \lambda \log(1 + t))^{\frac{x}{\lambda}} \\ &= \sum_{n=0}^{\infty} B_n^{(r)}(x|\lambda) \frac{(\log(1 + t))^n}{n!} = \sum_{n=0}^{\infty} \frac{B_n^{(r)}(x|\lambda)}{n!} n! \sum_{l=n}^{\infty} S_1(l, n) \frac{t^l}{l!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n B_m^{(r)}(x|\lambda) S_1(n, m) \right) \frac{t^n}{n!}. \end{aligned} \quad (3.2)$$

In addition, by replacing t by $e^t - 1$ in (3.1), we have

$$\begin{aligned} \sum_{n=0}^{\infty} D_n^{(r)}(x|\lambda) \frac{(e^t - 1)^n}{n!} &= \sum_{n=0}^{\infty} \frac{D_n^{(r)}(x|\lambda)}{n!} n! \sum_{m=n}^{\infty} S_2(m, n) \frac{t^m}{m!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n D_m^{(r)}(x|\lambda) S_2(n, m) \right) \frac{t^n}{n!}, \end{aligned} \quad (3.3)$$

and

$$\begin{aligned} \sum_{n=0}^{\infty} D_n^{(r)}(x|\lambda) \frac{(e^t - 1)^n}{n!} &= \left(\frac{\frac{1}{\lambda} \log(1 + \lambda t)}{(1 + \lambda t)^{\frac{1}{\lambda}} - 1} \right)^r (1 + \lambda t)^{\frac{x}{\lambda}} \\ &= \sum_{n=0}^{\infty} B_n^{(r)}(x|\lambda) \frac{t^n}{n!}. \end{aligned} \quad (3.4)$$

Hence, by (3.2), (3.3) and (3.4), we obtain the following theorem.

Theorem 3.1. For $n \geq 0$, we have

$$D_n^{(r)}(x|\lambda) = \sum_{m=0}^n B_m^{(r)}(x|\lambda) S_1(n, m).$$

Moreover,

$$B_n^{(r)}(x|\lambda) = \sum_{m=0}^n D_m^{(r)}(x|\lambda) S_2(n, m).$$

Note that for each $k, r \in \mathbb{N}$

$$\begin{aligned} & \left(\frac{\frac{1}{\lambda} \log(1 + \lambda \log(1 + t))}{(1 + \lambda \log(1 + t))^{\frac{1}{\lambda}} - 1} \right)^r (1 + \lambda \log(1 + t))^{\frac{x}{\lambda}} \\ &= \left(\frac{\frac{1}{\lambda} \log(1 + \lambda \log(1 + t))}{(1 + \lambda \log(1 + t))^{\frac{1}{\lambda}} - 1} \right)^k \left(\frac{\frac{1}{\lambda} \log(1 + \lambda \log(1 + t))}{(1 + \lambda \log(1 + t))^{\frac{1}{\lambda}} - 1} \right)^{r-k} (1 + \lambda \log(1 + t))^{\frac{x}{\lambda}} \\ &= \left(\sum_{n=0}^{\infty} D_n^{(k)}(\lambda) \frac{t^n}{n!} \right) \left(\sum_{n=0}^{\infty} D_n^{(r-k)}(x|\lambda) \frac{t^n}{n!} \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \binom{n}{m} D_m^{(k)}(\lambda) D_{n-m}^{(r-k)}(x|\lambda) \right) \frac{t^n}{n!}. \end{aligned} \quad (3.5)$$

It is well known that for each $k \in \mathbb{Z}$,

$$\left(\frac{t}{\log(1+t)}\right)^k (1+t)^{x-1} = \sum_{n=0}^{\infty} B_n^{(n-k+1)}(x) \frac{t^n}{n!}, \quad (3.6)$$

By (1.17), (1.7) and (3.6), we have

$$\begin{aligned} & \left(\frac{\frac{1}{\lambda} \log(1 + \lambda \log(1+t))}{(1 + \lambda \log(1+t))^{\frac{1}{\lambda}} - 1}\right)^r (1 + \lambda \log(1+t))^{\frac{x}{\lambda}} \\ &= \left(\frac{\frac{1}{\lambda} \log(1 + \lambda \log(1+t))}{(1 + \lambda \log(1+t))^{\frac{1}{\lambda}} - 1}\right)^{-r} (1 + \lambda \log(1+t))^{\frac{x}{\lambda}} \\ &= \sum_{n=0}^{\infty} B_n^{(n+r+1)}(x+1) \frac{1}{n!} \left((1 + \lambda \log(1+t))^{\frac{1}{\lambda}} - 1\right)^n \\ &= \left(\sum_{n=0}^{\infty} B_n^{(n+r+1)}(x+1)\right) \left(\sum_{m=n}^{\infty} S_{2,\lambda}(m,n) \frac{(\log(1+t))^m}{m!}\right) \\ &= \sum_{p=0}^{\infty} \sum_{n=0}^p B_n^{(n+r+1)}(x+1) S_{2,\lambda}(p,n) \frac{1}{p!} (\log(1+t))^p \\ &= \sum_{q=0}^{\infty} \left(\sum_{p=0}^q \sum_{n=0}^p B_n^{(n+r+1)}(x+1) S_{2,\lambda}(q-l,n) S_1(q,p)\right) \frac{t^q}{q!}. \end{aligned} \quad (3.7)$$

By (3.5) and (3.7), we obtain the following theorem.

Theorem 3.2. *For each $n, q \geq 0$, we have*

$$D_n^{(r)}(x|\lambda) = \sum_{m=0}^n \binom{n}{m} D_m^{(k)}(\lambda) D_{n-m}^{(r-k)}(x|\lambda),$$

and

$$D_q^{(r)}(x|\lambda) = \sum_{p=0}^q \sum_{n=0}^p B_n^{(n+r+1)}(x+1) S_{2,\lambda}(q-l,n) S_1(q,p).$$

Note that, by (1.3),

$$\begin{aligned} & \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (1 + \lambda \log(1+t))^{\frac{x+x_1+\cdots+x_r}{\lambda}} d\mu_0(x_1) \cdots d\mu_0(x_r) \\ &= \left(\frac{\frac{1}{\lambda} \log(1 + \lambda \log(1+t))}{(1 + \lambda \log(1+t))^{\frac{1}{\lambda}} - 1}\right)^r (1 + \lambda \log(1+t))^{\frac{x}{\lambda}} \\ &= \sum_{n=0}^{\infty} D_n^{(r)}(x|\lambda) \frac{t^n}{n!}. \end{aligned} \quad (3.8)$$

FULLY DEGENERATE DAEHEE NUMBERS AND POLYNOMIALS OF THE SECOND KIND I

By (1.14) and (3.8), we have

$$\begin{aligned}
 & \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (1 + \lambda \log(1 + t))^{\frac{x+x_1+\cdots+x_r}{\lambda}} d\mu_0(x_1) \cdots d\mu_0(x_r) \\
 &= \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \sum_{n=0}^{\infty} \binom{\frac{x+x_1+\cdots+x_r}{\lambda}}{n} \lambda^n (\log(1 + t))^n d\mu(x_1) \cdots d\mu_0(x_r) \\
 &= \sum_{n=0}^{\infty} \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (x + x_1 + \cdots + x_r)_{n,\lambda} \frac{1}{n!} n! \sum_{l=n}^{\infty} S_1(l, n) \frac{x^l}{l!} \\
 &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (x + x_1 + \cdots + x_r)_{m,\lambda} S_1(n, m) \right) \frac{t^n}{n!} \\
 &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n S_1(n, m) \beta_m^{(r)}(x) \right) \frac{t^n}{n!}.
 \end{aligned} \tag{3.9}$$

Thus, by (3.8) and (3.9), we obtain the following theorem.

Theorem 3.3. For each nonnegative integer n and each integer r ,

$$D_n^{(r)}(x|\lambda) = \sum_{m=0}^n S_1(n, m) \beta_m^{(r)}(x).$$

By (1.7) and (1.17), we have

$$\begin{aligned}
 & (1 + \lambda \log(1 + t))^{\frac{x+x_1+\cdots+x_r}{\lambda}} \\
 &= \left((1 + \lambda \log(1 + t))^{\frac{1}{\lambda}} - 1 + 1 \right)^{x+x_1+\cdots+x_r} \\
 &= \sum_{m=0}^{\infty} \binom{x + x_1 + \cdots + x_r}{m} \left((1 + \lambda \log(1 + t))^{\frac{1}{\lambda}} - 1 \right)^m \\
 &= \sum_{m=0}^{\infty} (x + x_1 + \cdots + x_r)_m \sum_{n=m}^{\infty} S_{2,\lambda}(n, m) \frac{(\log(1 + t))^n}{n!} \\
 &= \sum_{n=0}^{\infty} \sum_{m=0}^n (x + x_1 + \cdots + x_r)_m S_{2,\lambda}(n, m) \frac{(\log(1 + t))^n}{n!} \\
 &= \sum_{n=0}^{\infty} \sum_{m=0}^n (x + x_1 + \cdots + x_r)_m S_{2,\lambda}(n, m) \frac{1}{n!} n! \sum_{l=n}^{\infty} S_1(l, n) \frac{t^l}{l!} \\
 &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \sum_{m=0}^k (x + x_1 + \cdots + x_r)_m S_{2,\lambda}(k, m) S_1(n, k) \right) \frac{t^n}{n!},
 \end{aligned} \tag{3.10}$$

and so by (1.16), (3.8) and (3.10), we get

$$\begin{aligned} & \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (1 + \lambda \log(1+t))^{\frac{x+x_1+\cdots+x_r}{\lambda}} d\mu_0(x_1) \cdots d\mu_0(x_r) \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \sum_{m=0}^k S_{2,\lambda}(k,m) S_1(n,k) \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (x+x_1+\cdots+x_r)_m d\mu_0(x_1) \cdots d\mu_0(x_r) \right) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \sum_{m=0}^k S_{2,\lambda}(k,m) S_1(n,k) D_m^{(r)}(x) \right) \frac{t^n}{n!}. \end{aligned} \tag{3.11}$$

By (3.8) and (3.11), we obtain the following theorem.

Theorem 3.4. *For each nonnegative integer m ,*

$$D_n^{(r)}(x|\lambda) = \sum_{k=0}^n \sum_{m=0}^k S_{2,\lambda}(k,m) S_1(n,k) D_m^{(r)}(x).$$

4. CONCLUSION

In the past years, the degenerate of special functions and the applications of those functions to new areas of mathematics have been studied by many researchers. In this paper, we considered the degenerate Daehee numbers and polynomials by using p -adic invariant integral on \mathbb{Z}_p which are different from the Kim's degenerate Daehee polynomials. As a presentation, we derive some new and interesting properties of those polynomials.

Next, we defined the higher-order degenerate Daehee numbers and polynomials of the second kind, and found the relationship between the degenerate Bernoulli polynomials, the first and second Stirling numbers, the Bernoulli polynomials, degenerate Stirling numbers of the second kind and those numbers and polynomials.

5. COMPETING INTERESTS

The authors declare that they have no competing interests.

6. AUTHOR'S CONTRIBUTIONS

All authors contributed equally to this work. All authors read and approved the final manuscript.

REFERENCES

- [1] A. Bayad and T. Kim, *Identities for the Bernoulli, the Euler and the Genocchi numbers and polynomials*, Adv. Stud. Contemp. Math. (Kyungshang), **20** (2010), no. 2, 247-253.
- [2] L. Carlitz, *Degenerate Stirling, Bernoulli and Eulerian numbers*, Utilitas Math., **15** (1979), 51-88.
- [3] L. Comtet, *Advanced Combinatorics*, Reidel, Dordrecht, 1974.
- [4] B. S. El-Desouky, A. Mustafa and F. M. Abdel-Moneim, *Multiparameter higher order Daehee and Bernoulli numbers and polynomials*, App. Math., **8** (2017), 775-785.
- [5] J. Jeong and S. H. Rim, *On finite times degenerate higher-order Cauchy numbers and polynomials*, Bull. Korean Math. Soc., **53** (2016), no. 5, 1427-1437.
- [6] W. A. Khan, *A note on degenerate Hermite poly-Bernoulli numbers and polynomials*, J. Class. Anal., **8** (2016), no. 1, 65-76.
- [7] D. S. Kim and T. Kim, *Daehee numbers and polynomials*, Appl. Math. Sci., **7** (2013), no. 117-120, 5969-5976.

FULLY DEGENERATE DAEHEE NUMBERS AND POLYNOMIALS OF THE SECOND KIND 13

- [8] D. S. Kim and T. Kim, *Some p -adic integrals on \mathbb{Z}_p associated with trigonometric function*, Russ. J. Math. Phys., **25** (2018), No. 3, 300-308.
- [9] D. S. Kim, T. Kim, H. I. Kwon and G. W. Jang, *Degenerate Daehee polynomials of the second kind*, Proc. Jangjeon Math. Soc., **21** (2018), No. 1, 83-97.
- [10] D. S. Kim, T. Kim and D. V. Dolgy, *A note on degenerate Bernoulli numbers and polynomials associated with p -adic invariant integral on \mathbb{Z}_p* , Appl. Math. Comput., **259** (2015), 198-204.
- [11] D. S. Kim, T. Kim and G. W. Jang, *A note on degenerate Stirling numbers of the first kind*, Proc. Jangjeon Math. Soc., **21** (2018), No. 3, 394-404.
- [12] D. S. Kim, T. Kim, S. H. Lee and J. J. Seo, *Higher-order Daehee numbers and polynomials*, Int. J. Math. Anal., **24** (2014), no. 1, 5-18.
- [13] D. S. Kim, T. Kim, H. I. Kwon and J. J. Seo, *Daehee Polynomials with q -Parameter*, Adv. Studies Theor. Phys., **8** (2014), no. 13, 561-569.
- [14] T. Kim, *A note on degenerate Stirling polynomials of the second kind*, Proc. Jangjeon Math. Soc. Vol. **20** (2017), No. 3, 319-331.
- [15] T. Kim, *Barnes' type multiple degenerate Bernoulli and Euler polynomials*, Appl. Math. Comput., **258** (2015), 556-564.
- [16] T. Kim, *Symmetry p -adic invariant integral on \mathbb{Z}_p for Bernoulli and Euler polynomials*, J. Difference Equ. Appl., **14** (2008), no. 12, 1267-1277.
- [17] T. Kim, *Multiple p -adic L -function*, Russ. J. Math. Phys., **13** (2006), no. 2, 151-157.
- [18] T. Kim and D. S. Kim, *Degenerate Laplace transform and degenerate gamma function*, Russ. J. Math. Phys., **24** (2017), no. 2, 241-248.
- [19] T. Kim and D. S. Kim, *Identities for degenerate Bernoulli polynomials and Korobov polynomials of the first kind*, Sci. China Math., (2017), doi : 10.1007/s11425-018-9338-5.
- [20] T. Kim, D. S. Kim and G. W. Jang, *Extended Stirling polynomials of the second kind and extended Bell polynomials*, Proc. Jangjeon Math. Soc., **20** (2017), No. 3, 365-376.
- [21] T. Kim, D. S. Kim and H. I. Kwon, *Some identities relating to degenerate Bernoulli polynomials*, Filomat, **30** (2016), No. 4, 905-912.
- [22] T. Kim and J. J. Seo, *Degenerate Bernoulli numbers and polynomials of the second kind*, Int. J. Math. Anal., **9** (2015), no. 26, 1269-1278.
- [23] T. Kim, Y. Yao, D. S. Kim and G. W. Jang, *Degenerate r -Stirling Numbers and r -Bell Polynomials*, Russ. J. Math. Phys., **25** (2018), no. 1, 44-58.
- [24] J. G. Lee and J. Kwon, *The modified degenerate q -Bernoulli polynomials arising from p -adic invariant integral on \mathbb{Z}_p* , Adv. Difference Equ., **2017**, 2017:29, 9 pp.
- [25] D. Lim, *Fourier series of higher-order Daehee and Changhee functions and their applications*, J. Inequal. Appl., **2017**, 2017:150.
- [26] J. W. Park, B. M. Kim and J. Kwon, *On a modified degenerate Daehee polynomials and numbers*, J. Nonlinear Sci. Appl., **10** (2017), 1108-1115.
- [27] Feng Qi, L. C. Jang and H. I. Kwon, *Some new and explicit identities related with the Appell-type degenerate q -Changhee polynomials*, Adv. Difference Equ., **2016**, 2016:180, 8 pp.
- [28] S. Roman, *The umbral calculus*, Dover, New York, 2005.
- [29] Y. Simsek, *Generating functions of the twisted Bernoulli numbers and polynomials associated with their interpolation functions*, Adv. Stud. Contemp. Math., **16** (2008), No. 2, 251-278.
- [30] Y. Simsek and A. Yardimci, *Applications on the Apostol-Daehee numbers and polynomials associated with special numbers, polynomials and p -adic integrals*, Adv. Difference Equ., **2016** 2016:308, 14p.

¹ DEPARTMENT OF MATHEMATICS, DONG-A UNIVERSITY, BUSAN 604-714, REPUBLIC OF KOREA.
E-mail address: sjyun@dau.ac.kr

² DEPARTMENT OF MATHEMATICS EDUCATION, DAEGU UNIVERSITY, GYEONGSAN-SI, GYEONGSANGBUK-DO, 38453, REPUBLIC OF KOREA.
E-mail address: a0417001@knu.ac.kr